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2020 TUT Admission Test Answer Sheet (SOL Math)

1. [10 points]

One may use the given recursive formula to

obtain
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successively.
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Answer: 3

2. [10 points]

(a+§)(3a+l):3a2+%+10
a a a

1 [, 1
=3(a’+—=)+10=64/a’ - — +10 = 16 .
a a

Therefore the minimum value of

(a-ﬂ-é)(?)a-l-l) is 16.
a a

Answer: 16

3. [10 points]

Graphs of the two curves of of y=>5cosx

and y =—x are drawn as follows.

The two curves meets at 3 points.

Answer: 3

4. [20 points]

Since w? =w+1, we have
w5—5w=(w+1)2w—5w

= w4+ 2w +w— 5w
=(w+Dw+2w+1)+w—>5w
=w—w+2=(w+1)—w+2=3

Answer: 3

5. [20 points]

The line ¢ should be of the form
y=m(z—2). Moreover, 2z>—3z=m(z—2)
has a multiple root. Therefore, the
determinant D of the equation

22 — (34+m)z+2m =0 should be zero.
Thus, D=m?—10m+9=0. Therefore

m=1or9. So, the least slope is 1.

Answer: 1

6. [30 points]
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=1n+v12
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Thus Hm[w) - /12,

n-— oo 2
Therefore, the largest integer which is not

exceeding V12 is 3.

Answer: 3




